2025%57H miRART—ILAA—8K

—RT—I SHITRT—IL SRR T—IL
B |®8|5-2[10:.00 12:00 14.00 16.00 18:00 10:00 10:.00
~12.00 ~14.00 ~16.00 ~18.00 ~20.00 ~20.00 ~20.00
12 - 2= INERA10~12
1| w 34 RSG5 Ve
12 KB INFRAO~12
2 | K PRI \ER S
3.4
10~12
3| K 12 ANV 35 —
34
S )~
e 12 i BEERI10~12
3.4
5| + 1.2
34
6 | B 12
3.4
1.2
7|8
34 W ﬁE E
12 e 2= INERA10~12
8 | W 34 mRNFER 45 P27 C)))
12 IKepEE) 24395 INERA10~12
9 | 4 RIMRINER 6 5 =
K 34 &7 (Es2EE) 2AIVT16~1T
1.2 - 2= INER10~12
10| K v RN 1 5 > ()
e 12 21507 21IVT16~1T
34 (B2E) WSRBE108~116%
12| + 1.2
34
13| B 1.2
34
1.2
14| B
34 WBNREE1OB~1185
12 - B2 INFRA10~12
15| W 34 ARV 2 5 27 ¢)))
ol = 12 KEBsED) P 21IVT16~1T
34 [€:2=2= ) WSWRBE108~116%
1.2 B2
17| & A
34 YT (@) WBVRBEE0B~1185
12 PO 21IVT16~1T
18| & 34 (BZE)
1.2
19| =
34
20!\ 1.2
34
21| A 1.2
34
2| % 12 I P B 0~12
34 & > )
12 R 21IVT16~1T
23| % . 2120
34 (EZE) WHBLMRBE1085~1 165
12 —B2A S
24| K 34 > ()
12 R 21IVT16~1T
25| & . 2127
34 (BEE) WSNRBE108~118
26 | 12
3.4
27| 8 12
3.4
o8l B 1.2
34
1.2 B2 S
29| W v G
34 7 WBRBEE0B~1185
30| % 1.2
34
1.2 B2
31| K S y
o T () WSLVRBE108~118
KCDRLEHDIECHEFIECINDC. ERI_BDHEHDVEI.




2025588 BREIRT—ILAA—8XK

—f 77— ST MRAT—IL
B |BB[1-2[10:00 12:00 14:00 16:00 18:00 10:.00 10:00
~12.00 ~14.00 ~16.00 ~18.00 ~20:00 ~20:00 ~20:00
1] e 12
34
s |+ 1.2
34
3lm 1.2
34
1.2
4 | A
2 & £ B
34 FHIDER FHDER 10~15 10~15
34 RIS FHHDSE 10~15 10~15
7 | % 1.2 BRI BRM K SRBHKEBE SRPHKKEE
34 DB FHEDB 10~15 10~15
8| & 12
34 VB VRBE1085~1 165
ol + 1.2
34
10l B 12
34
11| 8 1.2
34
12| w 12
34
13| % 12
34
14| & |12
34
15| & 12
34
16 | & 12
34
17| 8 12
34
18| A 1.2
34 WBLMRBE1OF~1 185
12 —gRS
19| W N S
34 ¢
12 KB E) 2= 2LIVT16~1T
20 | 7 s
K 34 (EZEE) W5 VREE1 OB ~1 185
1.2 2=
21| K < N
34 77 (@)
= 21IUT16~1T
22| & 12 Jéng)d >
34 =
23| + 12
34
o4l B 12
34
5| B 12
34
1.2 2=
W N =
26| W 34 2N C)) NBLMRBE1 0B ~118%
12 KBS 2= 2LIUT16~1T
2 =
27| Kk 34 (€= WELMREE1 OB ~1 18
12 —gRS
28 | K N N
34 Y77 (@)
12 24295 2AZYT16~17
29| & 1=
34 (BFE)
30| & 12
34
31| 8 12
34
XCDRIEIHEITEFECINDT, BRCRDIHEHHVET,




2025598 mMEBAIRIJ—IILAIA—8XK

—fB 7= SITAT—I $HRAT—I
B &8 5-2[10:00 12:00 14:00 16:00 18:00 10:00 10:00
~12:00 ~14.00 ~16:00 ~18:00 ~20:00 ~20:00 ~20:00

1.2
1B, 17 gE 8

1.2 —B2C=
2 w 54 D27MC))

1.2 KepiES) S= 2A=YT16~17T
3 | % 34 =T

1.2 —W2A=
4 | K 34 > ()

1.2 21T 2AZIT16~17
5 | & 34 o=
6 | 1112

3.4
7 a2

34
8 | A/ 1.2

34

1.2 —W2C=
9 | W 34 2R

1.2 KepiEE A= 2IVT16~17T
10 | Xk 34 (f&%ﬁé)

1.2 —W2C=
11| % = SCECH)

1.2 213V 2AIVT16~1T
I e m
13| + 1.2

34

1.2
14 | B

3.4
15| A 12

3.4

1.2 —2rS
16 | W 34 SCRON)

12 KP3EH) . 2AIVT16~1T
17| K 34 =)

1.2 —MW2C=
18 | * . SCRCH)

1.2 213V 2AIVT16~1T
19| & 34 (B
20| + 1.2

34

1.2
21| B

3.4
22 | A 12

3.4
23 | W 12

3.4

12 KPR [ 2AIVT16~1T
24 | k 34 =)

1.2 —W2A =
25| K 34 PZECH)

1.2 213U 2AIVT16~1T
26| & — (B
27 | £ 12

3.4

1.2
28| B

34

1.2 —2A=
29 | A 34 PZZNCD)
30 | W 12

3.4

XCHDREIBFETEFECTCINDT, BEICBDHEEHIDHOIT,




20255108 MEIRT-ILFBA-—BX

— - SEFART-I $MNEAT—IU
B &8 5-2[10:00 12:00 14:00 16:00 18:00 10:00 10:00
~12:00 ~14:00 ~16:00 ~18:00 ~20:00 ~20:00 ~20:00
1.2
1 | %
34
12 B2
2 | K - =
34 > ()
3| e 1.2
34
4 | = 12
34
5 | B 1.2
34
1.2
6 | B
= A g B
1.2 2=
7w S >
34 D27 C )]
8 | % 1.2
34
1.2 2=
] N =
x 34 5 ()
10| & 1.2
34
11| & 12
34
12| 8 12
34
13| A 12
34
12 B2
14 | N S S
34 27N ¢ )
1.2
15| K
34
1.2 2=
16 | K S N
3.4 > (th)
17| & |2
34
18| + 1.2
34
19! @ 1.2
34
20| B 1.2
34
1.2 —B2=
21 | N N =
34 > &)
22 | XK 12
34
12 —B21S
23| & - =
3.4 > (h)
24 | & 12
34
25| & 12
34
26 | B 12
34
27| 8 12
34
1.2
28 | W
34
29 | K 12
34
30| K 12
34
31| & 12
34

KCORIIHBETETR

ECINT. BBICBRDIBENHDET,




